Assembly Instructions

I\
.\
\
y \
\

]

e

J

[

%

AR

Attention: Please ensure you have all parts before commencing assembly.
Please read all the instructions before commencing.

Page

1




T 75

PPPPP




E— pART LiST A—
A x 2pcs B x 2pcs C x 2pcs

] //
Q % <
D x 2pcs E x 4pcs F x 4pcs

G x 4pcs H x 1pc | x 1pc
J x 2pcS K x 2pcs

Page 3



— HARDWARE LIST A—

M6x35 18 pcs M6x27 26 pcs M6x12 48 pcs

M5x45 12 pes | M3x12 8 pes 1 pc
<>
§% < o ° .

20x20xM6 8 pcs 8 pcs M6x30 6 pcs

%@ﬁ\

1 pc | M4 1 pc

*Please count and verify all parts before assembly .*

Page 4




STEP 1

AN
J
AN
7

@ e

o)
o)

A
R

Please use a hammer or solid
tools (not included) to knock
the footpads into the frame.

A
YA

STEP 2

Please use a hammer or solid [@ @ x4]

tools (not included) to knock
the footpads into the frame.

Page 5




STEP 3

a N\
Note: Before tightening @ s X8
the screws, push the —{
wood boards tightly to @
make closer, otherwise i <= X1

may cause large gaps.

Page 6




STEP 5

Keep the holes of the
Part E and Part K toward
this direction as shown

STEP 6

@—1

Keep the holes of the
Part J and Part | toward
this direction as shown

Page 7




STEP 7

STEP 8

Note: Before tightening
the screws, push the
wood boards tightly to
make closer, otherwise i
may cause large gaps.

Page 8




STEP 9

STEP 10

Page 9



STEP 11

STEP 12

Note: Before tightening
make closer, otherwise i
may cause large gaps.

the screws, push the
wood boards tightly to

Page 10



STEP 13

Note: Before tightening
the screws, push the

wood boards tightly to

make closer, otherwise it
may cause large gaps.

)

7
e
A\ —

o1

A

:

Y
/,\

|

\

\J N/

"o

Page 11



